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Data Preparation | XPREP

Command Line

Directory of c:-sStructuressyusl

17 1026008 B3:-18 PH 163 .685 databm.pdp
A7 -10-2088 B3-18 PH 163,685 yusl_pdp

2 Fileds> 327.378 bytes

A Dird<s> 151.593.357.312 huytes free

swStructuressyuslxdir =*_hkl
Uolume in drive C iz 05
Uolume Serial Mumher is GEDB-BBHA

Directory of cisStructuressypusl

A7 -10-26008 B4:-12 PH 821,768 yusl_hkl
1 File<s>» 821.768 bytes
A Dird<s> 151.593.357.312 huytes free

sEtructuressyusls
sBtructuressyusl >
sEStructuressyusl:
sBtructuressyusldxprep yusl dataBm.pdp
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[F] new FORMULA, [R] change RADIATION,

or [Q] QUIT program
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: *.hkl *.ins (INS for XS or XM)




